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4 X 2=

15 x 14 =

6x 3=
8X T =
0x0=
13X 7=
7Tx 11 =
14 x9 =
bX9=
9% 9=

12 x 13 =

11 x 2=
bx 12 =
15 x9 =
DX T =

12x 11 =

8 x 12 =

13 x 15 =
11 x 13 =

14 x 7=

Multiplication of factors up to 15 #1
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2) 14x3=
3) 11 x 15 =
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12 x5 =
66X 7=
11 x 14 =
4x6=
11 x6=
11 x 10 =
DX b=
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Multiplication of factors up to 15 #1 (Solutions)

4x2=8

15 x 14 = 210
6x3=18

8 X 7=56
O0x0=0
13x7=091
TX11="77
14 x9=126
bx9=45
9x9=281
12 x 13 =156
11 x 2 =22
b x 12 =60
15 x9=135
bxT7=35
12 x 11 =132
8 X 12 =96
13 x 15 =195
11 x 13 =143
14 x7=98
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88X 3 =24
15 x 12 =180
13 x 14 = 182
3 x 10 =30
12Xx6="T72
14 x 15 =210
7TX7=49
13 x3=239
13 x6=178
15 x 7=105
bx 11 =255
14 x3=42
11 x 15 =165
12 x5 =60
6x7=42
11 x 14 =154
4x6=24
11 x 6 =66
11 x 10 =110
bx5H=25



